[14. 2071 Set D Q.No. 16}
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The following figures are exiracted from the two years Balance Sheet of a company.  [3+2=5
Particulars Last year (Rs.) Current year (Rs.)
Share capital 2,00,000 2,50,000
10% Debentures 70,000 40,000
Profit & Loss AIC 30,000 60,000
Goodwill 60,000 50,000
Reserve 30,000 40,000

Additional Informaticn

i. Dividend paid for current year: Rs. 15,000
- ii.- Charge Depreciation on Machinery: Rs. 10,000

fii. Machinery purchased during current year: Rs. 1,00,000

Required:
a. Funds from operation

[15. 2070 Supp Q.No. 18]
Balance Sheet of two periods are given below

b. Funds flow statement
Ans: (a) FFO Rs. 75,000 (b) Decrease in WC Rs. 20,000

31 December | 31 December 2010
2009 (Rs) (Rs)
Assets
Cash 30,000 47,000
Debtors 120,000 115,000
Stock in trade 80,000 80,000
Fixed Assets 50,800 66,000
Total Assets 280,000 318,000
Capital and Liabilities
Capital 200,000 250,000
Trade Creditors 70,000 45,000
Retained earnings 10,000 23,000
Total Capital and Liabilities ' 280,000 318,000
Required:
a. Schedule of changes in working capital _
b. Funds flow statements [2+3]

Ans: (a) Increase in working capital Rs. 47,000 (b) Tetal Rs. 63,000

[16. 2070 Set C Q.No. 18]
Following information's are given.

Particulars Previous Year Current year

(Rs.) (Rs.)

Fixed assets 800,000 10,00,000
Debtors 2,00,000 2,25,000
Cash 50,000 40,000
Share capital 6,00,000 7,00,000
General reserve 40,000 50,000
Profit of the year : - 1,20,000
Salary outstanding 15,000 20,000
House rent received in advance 10,000 5,000

Additional information:

i. Machine costing Rs. 1,00,000 has been sold for Rs. 1,10,000 in current year.
i.. Depreciation charged on fixed assets during current year is Rs. 20,000.

iii. Tax paid during the current year Rs. 5,000.

Required:
a. Schedule of changes of working capital.

B+2

Funds from operations
Ans: (a) Increase in WC Rs. 15,000; (b) Rs. 1,30,000
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{17. 2070 Set D Q.No. 16|

Following information are given

Year.ZOST (Rs.)

Particulars Year 2068 (Rs.)

Fixed assets 5,00,000 6,00,000
Inventory 30,000 40,000
Debfors 25,000 25,000
Investment in shares 1,00,000 1,50,000
Share capital 400,000 5,00,000
General reserve 20,000 25,000
Profit of currsnt year - 8C,000
Provision for tex 5,000 4,000
Credifors 10,000 12,000

Additional Information

i. Depreciation on fixed assets during 2068: Rs. 50,000

ii. Dividend paid during 2068: Rs. 20,000

Required: [3+2)

a. Schedule of changes in working capital

b. Funds from operations
Ans: (a) Increase in WC Rs. 9,000 (b) FFO Rs. 130,000

The Balance Sheet of a Company Limited as on Chaitra 31 are given below;

[18. 2069 Supp Set A G.No. 15|
The following information are given; ;
Net Profit for the year Rs. 50,000 Deprecation on fixed assefs Rs. 15,000
Goodwill written off Rs. 35,000 Gain on Sale of Fixed Assets Rs. 10,000
Issued of Share Capital Rs. 60,000 Sale of Fixed Assets Rs. 1,50,000
Dividend paid Rs. 30,000 Purchase of fixed Assets Rs. 1,00,000
Required: ?
a. Funds from operation . b., Funds flow Statement [3+2=3]
Ans: (2) Rs. 30,000 {b) Decrease in WC Rs. 170,000; Total Rs. 300,000
_[19. 2089 Supp Set B Q.No. 16 :
Following figures are exiracted from the two years balance sheet of 2 company:
Particulars Year | (Rs.) Yearil (Rs.)
PIL Account K 50,000 80,000
Share Capital 2,00,000 3.00,000
10% Debenture 50,000 60,000
Goodwill 20,000 15,000
Additional information:
i. Depreciation charged on fixed assets Rs. 10,000.
ii. Purchased of fixed assets Rs. 1,50,000
iii. Dividend paid for the year Rs. 30,000
Required: :
a. Funds from operations b. Funds flow statement . [2+3=5]
: Ans: (a) Rs. 75,000 (b) Increase in WC Rs. 35,000; FFS Rs. 210,000
[20. 2069 (Set A) Q.No. 16]

Liahilities 2066 (Rs) | 2067 (Rs.)! Assets 2066 (Rs) | 2057 (Rs.)|
Share capital 12,00,000 | 13,00,000 | Building 8,00,0001 800,000 |
PIL account 1,50,000 | 1,80,000 | Equipments 6,00,000 | 7,00,000 |
8% debentures 3,00,000 | 2,00,000 | Inventories 1,50,000 | 1,40,000
Creditors 1,458,000 | 1,80,000 | Debtors 1,20,000 | 1,50,000

- Provision of tax 80,000 50,000 | Advance rent 1,00,000 | 1,20,000
Proposed dividend 42,000 44,000 | Cash and Bank 1,50.000 44000
Total 19,20,000 | 19,54,000 | Total 18,20,000 | 19.54,000

Required: ,

a. Schedule of changes in working capital b, Funds fiow statement f3+2=5]

Ans; (a) Decrease in WC Rs. 70,000 (b) Total Rs. 2,00,000



[21. 2069 (Set B) Q.No. 18]
Following information are given:
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Particulars Last year (Rs.) | Current year (Rs.

Share capital 5,00,000 6,00,000
10% Debentures 2,50,000 1,00,000
Goodwill - 40,000 30,000
Preliminary expensas 20,000 15,000

Additional information

e Net profit for the year: Rs. 80,000

o Depreciation charged on fixed assets Rs. 30,000

e Dividend paid for the year Rs. 25,000

e Sales of investment Rs. 1,30,000

Required: 2 :

a Funds from operation b. Funds flow statement 5]

22. 2068 Q.No, 16

Ans: (a) FFO Rs. 135,000; FFS Rs. 3,65,000; (b} Increase in WC Rs. 180,000

Following figures are extracted from the two years balance sheet of a Limiied Co:

Particulars Last year (Rs.) | Current year (Rs.)

Share capital 1,40,000 2,00,000
10% debentures 2,00,000 1,60,000
Current liabilities - 1,40,000 1,70,000
Current assets 2.80,000 3,40,000

Additional Information:

i. Fixed assets were purchased for Rs. 50,000

ii. Depreciation on fixed assets Rs. 20,000

Required: _

a. Schedule of changes in working capital ~ b. Funds flow statement [2+3=5]

[23. 2068 Supp Q.No. 18]
The following information are given:

Ans: (a) Increase in WC Rs. 30,000; (b) Rs 1,20,000

15t year (Rs.) 2™ year (Rs.)
Assets :
Fixed assets 3,85,000 3,61,000
Investment 20,000 50,000
Debtors 1,12,000 1,62,000
Inventory 1,25,000 1,15,000
Cash and bank 25,000 40,000
Preliminary expenses 33,000 25,000
Total Assets 7,00,000 7,00,000
Liabilities
Capital 5,00,000 5,60,000
Profit and loss alc 60,000 80,000
Creditors 45,000 65,000
Bills payable 80,000 20,000
Qutstanding salary 15,000 18,000
Total liabilities 7,00,000 7,53,000
Required: Schedule of changes in working capital. 8]

24. 2067 Q.No. 18

Ans: Increase in WC Rs. 52,000

Following information are given: [3+2=5)
Net profit Rs.1,00,000 Transfer to general reserve Rs.20,000
Issue of Share capital 1,00,000 Depreciation of Machinery 30,000
Dividend paid 15,000 Purchase of Machinery 50,000
Redemption of Debentures 75,000 Refund of Tax : 5,000



412

Question Bank (Management)- Xl

Required:
a. Funds from operation

[25.

b. Funds Flow Statement
Ans: (a) Rs. 125,000 (b) Increase in WC Rs. 80,000; Total Rs. 230,000

2067 Supp Q.No. 16|
The following figures are extracted from the two years ba!ance sheet of a company:
Last year (Rs.) | Current year (Rs.)
Share capital 1,50,000 2,00,000
10% Debentures 80,000 50,000
Profit and loss alc 30,000 40,000
Goodwill 60,000 50,000
General reserve 20,000 25,000

Additional Information:

a. Dividend paid for the year Rs. 10,000
b. Depreciation charged on machinery Rs. 20 000 the machinery was purchased for .

Rs. 1,00,000..
Required:
a. Funds from operation

f26. 2086 Q.No. 18]
The following information are provided:

Net profit for the year
Goodwill, written off
Issued of share capital
Additional information:

%

Rs. 30,000
Rs. 2,000

Rs.25,000

b. Funds flow statement.

[3+2)

Ans: (a) Rs. 55,000 (b) Rs. 1,40,000

Depreciation on machinery

Purchased of fixed assets

Rs. 2,000
Rs. 20,000

A part of fixed assets which original cost was Rs, 20,000 and with book value of Rs. 10,000
was disposed off for Rs. 14,000.

Required:
a. Funds from operation

The following figures are extracted from the two years Balance Sheets of a Company:

~

b. Funds flow statement

(5]

Ans: (a) Rs. 30,000 (b) Total Rs. £9,000

Last year (Rs.) Current year (Rs.)
Current assets 1,40,000 1,70,000
Current liabilities 70,000 90,000
10% Debentures 1,00,000 80,000
Share capital 70,000 1,00,000

Fixed assefs purchased in the current year was Rs. 25,000 and funds from operation is

ascertained Rs. 25,000
Required:

a. Schedule of change in working capital

128.

2066 Supp Q.No. 18|

b. Funds flow statement

The Balance Sheets of a Company as on December 31, are as under:

[2+3]

Ans: (a) Increase in WC Rs. 10,000 (b) Total Rs. 55,000

Liabilities Last Year | This Year Assets Last Year | This Year
Share capital 400,000 | 5,00,000 | Machinery 450,000 | 5,00,000
Profit & Loss 50,000 70,000 | Debtors 70,000 60,000
Reserve fund 30,000 35,000 | Bank balance 1,50,000 | 1,46,000
8% Debentures Goodwill 50,000 40,000
Commission | 2,00,000 | 1,00,000 :
Received in advance 15,000 11,000
Creditors 25,000 30,000
Total 7,20,000 | 7,46,000 | Total 7,20,000 | 7,46,000
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Additional Information: During this year, depreciation charged on machinery Rs. 45,000 and
addition of machinery worth Rs. 85,000. Funds from operation Rs. 80,000

Required:

a. Schedule of changes'in Working Capital
Ans: (a) Decrease in WC Rs. 15,000; (b) FFS Rs. 1,85,000

[29. 2065 Q.No. 16)

b. Funds Flow Statement

2+3]

The following figures are exiracted from the two years balance sheets of a company:

Previous year | Current year

Share capital 6,20,000 ~ 7,20,000
9% Debentures 2,90,000 1,50,000
Profit and loss account 80,000 1,50,000
Preliminary expenses 25,000 20,000

Additional information: s

D~crease in working capital Rs. 55,000

Jividend paid for the year Rs. 50,000

Depreciation charged on machinery Rs. 30,000

Machinery purchased during the year Rs. 1,20,000

Required:

a. Funds from operation b. Funds flow statement [2+3=5]

ED. 2065 Q.No. 17 !Oidl

The following details are provided:

Funds from operation
Dividend paid
Plant purchased

Required: Funds flow statement.

[31. 2085 Q.No. 18 (OId)]

* Ans: (a) Rs. 1,55,000 (b) Total Rs. 3,10,000

Rs. 1',20,000 Issued of shares

Rs. 20,000 Increased in working capital
Rs. 80,000 Issued of 10% debentures

Rs. 80,000
Rs. 1,50,000
RS. 50,000
(3]

Ans: FFS Rs. 2,50,000

The Balance sheets as on 31st Chaitra of 2.company are as under:

Liabilities Year1 Year2 Assets Year 1 Year 2
Share capital 5,00,000 | 6,00,000 | Land and building 4,00,000 | 5,00,000
Retained eamings 1,00,000 | 1,80,000 | Plantand machinery 1,60,000 | 2,50,000
General reserve 50,000 60,000 | Stock 70,000 90,000
Sundry creditors -60,000 80,000 | Debtors 80,000 70,000
Bills payable 30,000 20,000 | Cash 10,000 5,000
Provision for tax 10,000 15,000 | Investment 30,000 40,000
Total 7,50,000 | 9,55,000 | Total 7,50,000 9,55,000

Additional information:

i. Rs. 40,000 depreciation has been charged on plahi and machinery during the year 2.
ii. Land and building has been depreciated by Rs. 20,000.

iii. Dividend paid in the year 2 was Rs. 40,000

Required:

a. Schedule of changes in working capital
c. Funds flow statement

B32. 2064 Q.No 16

The following information is provided:

Net profit for the year
Patent written off
Issued of share capital

Rs. 50,000
Rs. 1,000
Rs. 25,000

b. Funds from operation

[4+3+3)

Ans: (a) Decrease in WC Rs. 10,000 (b) Rs. 1,90,000 (c) Balance Rs. 3,00,000

Depreciation on machinery Rs. 4,000

Purchased fixed assets

Rs. 25,000

Additional information: Apart of fixed assets which ongmal cost was Rs. 20,000, with book
value of Rs. 5,000 was sold at a profit of Rs. 2,000.

Required:

a. Funds from operation

b. Funds flow statement.

[3+2=5]

Ans: (a) Rs. 53,000 (b) Increase in WC Rs. 60,000
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[33. 2064 Q.No. 18 (OId)]

Question Bank (Management)- Xl

The Balance Sheet of a company as on Dec. 31%, are as follows:

Liabilities Year 1 Year 2 | Assets Year 1 Year2
Share capital 2,00,000 | 3,00,000 |Piant and machinery | 2,90,000 | 4,00,000
Retained eamings 50,000 60,000 | Stock 40,000 60,000
10% Debentures 50,000 | 1,00,000 | Debtors 40,000 30,000
Creditors 1,00,000 | 50,000 | Cash 30,000 20,000
Bills payzble | 20,000 | 20,000 | Bills receivable 30,000 40,000
Quistanding expenses| 10,000 | 20,000 !

| 4,30,000 | 5,50,000 4,30,000 | 5,50,000

Additional information:

i. + The net profit for the year 2 was Rs. 40,000 and dividend paid was Rs. 30,000,

ii. Depreciation for the year 2 was Rs. 40,000.
ii. Machinery having book value of Rs. 30,000 on 31st Dec. year 2 was sold for

Rs. 20,000.

iv. A new machinery was purchased for Rs. 1,80,000.

Required:

a. Schedule of changes in working capital
c. Funds flow statement

[34. 2064 Supp. Q.No. 1¢]

b. Funds from operation

[4+2+4]

Ans: (a) Increase in WC Rs. 50,000 (b) Rs. 80,000 {c) Total Rs. 2.60,000

The following information are provided:
i. * The net profit for the year
ii. Discount on redemption of debentures

Jiii. Dividend paid

iv. Goodwill written off

v. Depreciation on fixed assets
vi. Issued of share capital

vii. Purchased of plant
Redemption of debentures

viil.

Required:

a. Funds from operation

B5. 2063 Q.No. 18

- Rs. 30,000
-Rs. 1,000
-Rs. 20,000

= Rs. 10,000
-Rs. 15,000

- Rs. 1,00,000
-Rs. 1,35,000

-Rs, 20.000_ (including discount Rs. 1,000)

b. Funds flow statement
Ans: (a) Rs. 54,000 {b) Rs. 1,74,000

(3+2]

The comparative balance sheet of Kastoori Ltd. prepared on 315 Ashadh | given below:
Liabilities 2060 2061 Assets 2060 2061

Sundry creditors 45,000 20,000 | Bank balance 5,000 14,000 |
Short term loan 25,000 40,000 | Cash balance 1,000 2,000
Provision for fax 5,000 10,000 | Debtors 13,000 30,000
Bank loan 32,000 20,000 | Stock 70,000 55,000
Reserve fund 30,000 35,000 | Plant . 75,000 100,000

- Retained eamings 12,000 16,000 | Land & building 110,000 120,000
Share capital 125,000 180,000

Additional information:

i.  Dividend of Rs. 8,000 paid during 2061 BS

il. Plant costing Rs. 35,000 was purchased during 2061 BS.

Required:

a. Schedule of changes in working capital  b. Funds from operation

c. Funds flow statement [3+3+4]

36. 2062 Q.No. 18

Ans: (2) Increase in WC Rs. 17,000 (b) Rs. 27,000 (c) Rs. 82,000

The Balance Sheet of A Company Ltd on 31 Ashadh are given below:

2059 (Rs.)| 2060 (Rs.) 2059 (Rs.)| 2060 (Rs.)
Sundry creditors 40,000 25,000 | Bank Balance 3,000 4,000
Bills payable 35,000 40,000 | Cash 2,000 2,000
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Bank loan 37,000 - | Debtors : 12,000 35,000
General reserve 25,000 30,000 | Stock . 60,000 50,000
Retained eamings 15,000 16,000 | Plant 75,000 130,000
Share capital 100,000 | 200,000 | Land and building 100,000 90,000

Total : 252,000 311,000 252,000 311,000
Additional information: .

i.  Dividend of Rs. 10,000 was paid during 2060

ii. Depreciation of Rs. 8000 was charged on plant during 2060

Required:

a. Schedule of changes in working capital ~ b.  Funds from operation

c. Funds flow statement- [3+3+3]
Ans: (a) Increase in WC Rs. 24,000 (b) Rs. 24,000 (c) Rs. 134,000; Purchase of plant Rs. 63,000

37. 2061 Q.No. 18}

" The balance sheets of Janak Ltd. as on Dec. 31, are as foliows:

Liabilities 1998 1999 Assets 1998 1939
Creditors 30,000 40,000 | Cash 1,14000 | 1.38,000
Bills payzable 10,000 20,000 | Marketable securifies 20,000 42,000
Debentures 1,00,000 | 2.00,000 | Deblors 50.000 40,000
Share capital 1,60,000 | 2,20,000 | Stock 28.000 58,000
Share premium . 24000 | Long-term investment 44 000 28,000
Reserve and surplus 130,000 | 1.34,000 | Plant& Machinery 60,000 -| 2,30,000
General reserve 10,000 20,000 | Land 1,20,000 1,20,000

Goodwill - 4,000 2,000
4,40,000 | 6,58,000 4,40,000 | 6,58,000

Additional information:
i.  Machinery having book value of Rs. 8,000 on 31 Dec, 1999 was sold for Rs. 6,000.
ii. -~ Depreciation charged on Plant and Machinery for current year was Rs. 72,000

iii. Profit on sale of long-term investment was Rs. 4,800 [3+3+3]
Required:
a.  Schedule of changes in working capital b.  Funds from operation

c. Funds flow statement
Ans: (2) Increase in WC Rs. 46,000 (b) Rs. 85,200 (c) Rs. 296,000

138. 2060 Q.No. 1 E

The balance of retained eaming account of a company at the end of last year was
Rs. 100,000 and it was Rs. 120,000 at the end of this year. The net profit for this year was Rs.
80,000.

Required: Amount of dividend paid. ‘ [3]
Ans: Rs. 60,000
:

The balance sheet of K and Co. as on 315t December are as under;

Liabilities Yr. 1st Yr. 2nd Assets Yr. ist Yr. 2nd
Share capital 5,20,000 6,00,000 | Land & building 4,00,000 5,00,000
10% debentures 400,000 3,00,000 | Plant& machinery 1,10,000 1.50,000
General reserve 1,00,000 1,20,000 | Inventory 2,50,000 2,00,000
Profit & Loss alc 80.000 1,50,000 | Sundry debtors - 2,00,000 2,965,000
Sundry creditors 80,000 70,000 | Cash 2,00,000 1,00,000
Bills payable . 40,000 50,000 | Goodwill 40,000 30,000
Provision for bad 5,000 6,000 | Preliminary expenses 25,000 20,000
debt .

; 12,25,000 | 12,96,000 12,25,000 | 12,96,000
Additional information: :

i.  Dividend paid for the year Il - Rs. 50,000
ii.  Depreciation charged during the year:
Land & Building Rs. 20,000 and Plant & Machinery Rs. 15,000
Required:
a. Schedule of change in working capital b. Funds from operation
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¢. Funds flow statement [3+3+3]
Ans: Decrease in WC Rs. 55,000 (b) Rs. 190,000 (c) Rs. 325,000

[40. 2080 SUPP. Q.No. §
A company provides you the following additional information for the current year and
summarized balance sheets of current and previous year end as under.

: - Summarized Balance Sheet as on end of the year
Liabilities 057 Rs. | 058Rs. Assets 057 Rs. | 058Rs.

Share capital 60,000 78,000 | Cash at bank 15,000 9,000
Retained eamings 1,20,000 | 132,000 | Marketable securities 15,000 21,000
Long-term loan - 45,000 | Accounting receivable 30,000 45,000
Creditors 75,000 24000 | Inventory 36,000 45,000
Accruals 6,000 6,000 | Fixed assets, net 1,50,000 | 1,65.,000
Tax liability 9,000 15,000 | Other non-current assets 24,000 15,000

270,000 | 3,00,000 : 270000 | 3,00.000

Additional information:
i.  Depreciation for the year was Rs. 15,000
ii. Dividend of Rs. 8,000 was declared and paid

Required: .
a. Statement of changes in working capital.  b. Funds from operation
c. Funds fiow statement . [3+3+3]
Ans: (a) Rs. 69,000 (Increase) (b) Rs. 36,000 {c) Rs. 1,08,000
| 9. CASH FLOW STATEMENT Fak e s e

. 2073 SetC Q.No. 17
The opening and closing balances of assets and liabilities are as under:

Particulars Opening Rs. | Closing Rs.
Inventory : 48,000 96,000
Debtors 252,000 2,04,000
Cash 1,20,000 60,000
Creditors \ 1,20,000 1,60,000
Qutstanding expenses £0,000 80,000

Additional Information:

i. Sales Rs. 8,40,000

ii. Costof sales Rs. 5,28,000

iii. Administrative expenses Rs. 1,20,000

iv. Purchaseof fixed assets Rs. 3,84,000

v. Sales of fixed assets Rs. 84,000

vi. Shares issued Rs. 1,20,000

vii. Repayment of debentures Rs. 60,000

viii. Dividend paid Rs. 72,000

Required: Cash flow statement [4+2+3+1=10]

Ans: CFOA Rs. 252,000; CFIA (Rs.300,000); CFFA (Rs. 12,000)

[2. 2073 Set D Q.No. 17]
The closing balances of assets and liabilities are given below:

Particulars " Year|(Rs.) | Yearll(Rs)
Share capital : 2 1,00,000 2,00,000
Share premium 10,000 20,000
Debentures 50,000 1,00,000
Debtors 5 : 75,000 90,000
Inventories 1,20,000 1,50,000
Creditors _ 40,000 70,000
Investments 1,00,000 50,000
Bills receivable 40,000 20,000
Cash : ; : 80,000 7



Additional Information:

i, Sales during the year

ii. - Cost of goods sold
iii. Office expenses

iv. Selling expenses
v. Sale of furniture

Vi,
Vil
viii.

Tax paid
Dividend distributed

Principles of Accounting- n

Rs.-10,00,000
Rs. 7,30,000

* Rs. 50,000

Purchase of machinery

Rs. 20,000
Rs. 25,000
Rs. 1,60,000°
Rs. 15,000
Rs. 10,000

‘Required: Cash flow statement using direct method
Ans: CFOA Rs. 190,000; CFIA (Rs. 85,000); CFFA Rs. 150,000; Closing cash Rs. 335,000

. 2072 Supp Q.No. 17]

Balance shest of a company for two years are as follows:

417

i

[6+2+2+1=10)

Liabilities Year | Rs.| Year |l Rs.|[Assets Year|Rs.| YearlIRs.
Share capital 4,00,000| - 5,50,000|Fixed assels 4,35,000 8,60,000
Share premium - 55,000 Investments 1,10,000 70,000
Retained eamings 3,25,000{  3,36,000|Inventories 70,000 95,000
10% debentures 2,50,000{ 5,00,000{Debtors 1,25,000 145,000
Creditors 1,00,000 1,50,000{Cash and bank 3,35,000] -4,21,000
Total 10,75,000{ 15,91,000|Total 10,75,000 15,91,000
Additional Information: f 3

i. Salein second year, Rs. 6,00,000 ¢

ii. Cost of goods sold: Rs. 3,37,000

jii. Operating expenses: Rs. 1,00,000 ?

iv. - Purchase of fixed assefs: Rs. 5,75,000

v. Sale of fixed assets: Rs. 15,000

vi: - Sale of investments: Rs. 52,000

vii. Payment of dividend: Rs. 29,000

Requnred Cash flow statement . [4+2+3+1]

. 2072 Set C Q.No. 17}

Ans: CFOA = Rs. 1,868,000, CFIA = (Rs. 5,08,000), CFFA = Rs. 4,26,000

The Balance Sheet of a company as on Chaitra 31! are as under:

Liabilities Year 1 Rs. |Year 2 Rs. Assets _ Year 1 Rs. | Year 2 Rs.

Share capital 4,00,000  5,00,000Fixed assets 5,25,000] 6,80,000!
10% debentures 1,00,000| 50,000{inventories . 50,000 75,000
Long term loan 50,000 150,000Debtors - 75,000 1,00,000i
Creditors 50,000  50,000Prepaid insurance 5,000 10,000
Wages payable - 10,000Cash at bank 45,0000 15,000
Provision for tax 25,0000 30,000 . R
Retained earning 75,000 90,000
[Total ~700,000]  880,000[Total 700,000f 880,000
Additional information 3
i. Sales foryear 2 Rs.6,00,000
ii. Cost of goods sold Rs.2,25,000
iii. Operating expenses excluding Rs.10,000 mterest on debentures Rs.250,000
iv. Tax paid Rs.25,000
v. Fixed Assets purchased Rs.2,15,000

Fixed Assets sold Rs.15,000
vi. Dividend paid Rs.25,000

“Required: Cash flow statement

[5+2+2+1= 10]
Ans: CFOA = Rs. 45,000, GFIA = (Rs. 200,000), CFFA = Rs. 125,000
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5.

2072 Set D Q.No. 17]

»

The Balance Sheet of a company for two years are as follows:

Liabilities Year 1Rs. | Year 2 Rs. Assels Year 1Rs. | Year2 Rs.

Share capital 4,00,000] = 8,00,000Machinery 4,00,000f ' 6,40,000
10% debentures 2,00,0000 - 1,20,000{investments 1,20,000{  1,80,000
Creditors 1,60,000,  2,00,000lnventories 3,20,0001  4,00,000]
Bills payable 80,000 40,000Debtors 1,20,000 80,000
Profit and loss A/IC . 1,60,000, 2,40.000Cash 40,0001 1,00,000]
Motal 10,00,0000 14,00,000Total 10,00,000] -14,00,000
Additional information :

i Sales for the second year Rs.12,00,000

i.. Costof goods sold Rs.8,00,000

ii. Operating expenses Rs.1,60,000

iv. Machinery purchased Rs.4,00,000

v. Machinery sold Rs.60,000

vi. Dividend paid Rs.56,000

vii. Redemption of debentures with premium Rs.84,000

Required : Cash flow statément

2072 Set E Q.No. 17]"

The balance sheet of a company as on Chitra 31, are as follows:

[5+2+2+1=10]

Ans: CFOA = Rs. 200,000, CFIA = (Rs. 400,000), CFFA = Rs: 260,000

Liabilities Year 1 Rs.|Year 2 Rs.] Assets Year 1 Rs. | Year 2 Rs.
Share capital 3,00,000, 4,00,000Machinery 1,50,000f  2,50,000
Share premium 30,000 40 000fFurniture 1,00,000 50,000
Loan 100,0001 _50,000Debtors 70,0000  1,00,000
Creditors 50,0000  70,000Stock 1,25,0000  1,60,000]
Expenses due 10,000 15,000]Pre-paid insurance 20,0001 15,000
Retained eaming 75,000 1,25,000Cash balance 1,00,000{  1,25,000!
Total 5,65,000] 7,00,000Total 5,65,000 7,00,000,
Additional infermation 3 ;
i. - Sales for the second year Rs.6,30,000
ii. Costof goods sold Rs.350,000
iii. Operating expenses Rs.1,25,000
iv. Gain on sales of furniture Rs. 10,000,

v.. Dividend paid Rs. 20,000
vi. Purchased of machinery Rs.1,95,000

Required: Cash flow statement using direct method

2071 Supp Q.No. 17]

The balance sheet of A.B.C company for two yeafslare as follows:

[6+2+2+1=10]

Ans: CFOA = Rs, 120,000, CFIA = (Rs. 135,000), CFFA = Rs. 40,000

Liabilities Year IRs. | Year Il Rs. Assets Year | Rs. | Yearll Rs.
Share capital 500,000 8,00,000|Fixed assets 4,00,000 7,00,000
10% Debenture 2,00,000{ 1,00,000{Closing stock 2,00,000] 250,000
Creditors 50,000 60,000|Debtors 60,000{ 30,000
Retained earning 50,000 140,000{Preliminary expenses 40,000 10,000

© |Cash 1,00,000f 110,000
Total 8,00,000f 11,00,000{Total 8,00,000] 11,00,Q00

Additional information

i. Sales for the year : Rs.8,00,000
ii. Cost of goods sold: Rs,3,50,000
iii. Operating expenses: Rs.2,10,000
iv.
V.
Vi,

Fixed assets purchased: Rs.4,00,000
Dividend distributed: Rs.1,00,000

Fixed assets costing Rs.50,000 sold for Rs.80,000.
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Required : Cash flow statement : [4+2+3+1=10]

Ans: CFOA = Rs. 230,000, CFIA = Rs, 320,000, CFFA = Rs. 100,000
8. 2071 SetC Q.No. 17]

Liabilities Year 1Rs. | Year 2 Rs. Assets Year 1Rs. | Year 2Rs.
Share capital 8,00,000 [ 10,00,000 | Fixed Assets 6.00,000 | 8,00,000
10% Debenture 1,00,000 50,000 | Inventory 1,00,000 | 1,50,000
Retained earnings 1,00,000 1 2,00,000 | Debtors 430,000 | 3,20,000
Creditors . 200,000 | 250,000 | Bank & cash 4
Expenses payable 50,000 70,000 -~ balance 1,20,000 | 3,00,000
Total 12,50,000 | 15,70,000 | Total 12,50,000 | 15,70,000

Additional Information: i :

Sales revenue Rs. 12,00,000 Cost of goods sold Rs. 8,00,000

Purchase of fixed assets Rs. 3,50,000 Interest on debenture Rs. 10,000 -
Administrative expenses Rs. 1,20,000 Tax paid during the year Rs. 60,000

Dividend distributed Rs. 70,000 Sale of fixed assets Rs. 1,10,000

Required: Cash flow statement using direct method [5+2+2+1=10]

Ans: CFOA Rs. 340,000; CFIA Rs:. (240,000); CFFA Rs. 80,000

. 2071 SetD Q.No. 17]
Balance sheet of a company as on 31 Ashad are as follows:

Liabilities 2067 2068 | Assets T 2068
Share capital 8,00,000{ 9,00,000|Machinery 7,00,000[ 9,00,000
Retained Eaming 2,00,000] 3,00,000(Debtors 3,00,000{ 2,50,000
Bank Loan 2,00,000] - 1,00,000(Stock 3,00,000{ 4,50,000
Creditors 3,00,000{ 4,00,000|Cash 2,00,000{ 1,00,000
Total 15,00,000{ 17,00,000|Total 15,00,000 17.00,000

Additional Information

i. Sales and cost of goods sold for the year were Rs. 11, 00 000 and Rs. 7,30,000
respectively.

ii. Operating expenses Rs. 1,90,000 (including depreciation Rs. 50 ,000)

iii. Machinery sold for Rs. 1,50,000 and purchased Rs. 4,00,000.

iv. Dividend paid for the year Rs. 80,000.

Required: Cash flow statement using direct method. [5+2+2+1=10]
Ans: NCFOA Rs. 230,000, NCFIA (Rs. 250,000), NCFFA (Rs. 80,000)

[10. 2070 Supp Q.No. 17]
Balance sheet of a company as on 31¢ Chaitra are given:

Liabilities 68 (RS.) 2069 (Rs.) Assets 2068 (RS.) 2069 (Rs.)
Share capital 10,00,000 | 12,00,000 | Machinery ° 12,00,000 16,00,000
Share premium 1,00,000 1,20,000 | Stock . 1,00,000 2,00,000
10% Debenture 2,00,000 1,00,000 | Debtors 3,00,000 2,00,000
Bill payable 1,00,000 80,000 | Cash 2,00,000 1,00,000
Creditors 2,00,000 3,00,000
‘Retained eaming 2,00,000 3,00,000

1 18,00,000 | 21,00,000 | Total. 18,00,000 21,00,000

Additional Information:

i. Sales for 2069: Rs. 16,00,000

ii. Cost of goods sold: Rs: 11,00,000

iil. Operating expenses: Rs. 2,50,000

‘iv. Operating expenses include: Rs 50,000 depreciation and Rs 20, 000:nieress

v. Machinery costing Rs. 40,000 sold for Rs. 60,000 and new one purchased for
Rs. 6,00,000.

vi. Dawdend distribution: Rs 60,000

Required: Cash flow statement using direct method, . [B5¥2+2+1]
Ans: CFOA Rs. 380,J00; CFIA Rs. (540,000); CFFA Rs. 60,000
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[11. 2070 Set C Q.No. 17]

The closing balance of different assets and ltabmnes are gwen below.

Particulars Previous Year | Current year
(Rs.) (Rs.)

Fixed assets’ 3,00,000 1,85,000
Debtors 1,20,000 1,50,000
Inventory * 1,35,000 1,60,000
Share capital 1,50,000 3,00,000
Creditors 1,20,000 1,50,000
Wages outstandmg 40,000 50,000
Cash 75,000 ?

Additional information:

i. -Cost of goods sold Rs. 7,25,000.

ii. Operating expenses Rs. 3,00,000.

iii. Sales during the year Rs. 12,00,000.

iv. Furniture costing Rs. 90,000 has been sold during the year for Rs. 100,000.

v. Equipment purchased during the year for Rs. 1,04,000."

vi. Tax paid Rs. 15,000

Required: Cash flow statement using direct method [10]

Ans: CFOA Rs. 145,000; CFIA Rs. (4,000); CFFA Rs 1,50,000

[12. 2070 Set D Q.No. 17

The income statement and other information's of a company for the year 2068 is given below.

_ Particulars Rs. Rs.
Sales revenue 8,00,000
Cost of goods sold -5,00.000
Gross Profit 3,00,000
Administrafive expenses 1,60,000
Interest on debentures \ 15,000
Premium on debentures redemption 5,000
Depreciation on equipments 45,000 2,25.000
Net profit-before tax 75,000
Other details \
Particulars Previous Year (Rs.] Current Year (Rs.
Equipments net 6,00,000 7,50,000
Investment * 50,000 1,00,000
Debtors 1,00,000 70,000
_Inventory 80,000 1,00,000
Share capital 7,00,000 9,00,000
Share premium | 50,000 1,00,000
10% Debentures 2,00,000 1,50,000
Creditors 80,000 1,05,000
Qutstanding expenses 15,000 10,000
Provision for tax 40,000 50,000
Bank Stock 2,50,000 ?

Additional Information

i. Equipment sold for Rs. 55,000 and purchased for Rs. 2,50,000 during the current year.

ii. - Dividend of Rs. 70,000 paid during current year.
Required: Cash flow statement using direct method -

[10]

Ans: CFOA Rs. 165,000, CFIA Rs. (245, 000), CFFA Rs. 125,000
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. [13. 2069 Supp Set A Q.No. 17]
The Balance sheets of a limited company for two years are given below:

Liabilities 2066-Rs. | 2067 Rs. Assets 2066 Rs.- | 2067 Rs.
Share Capital 20,00,000 | 24,00,000 | Fixed Assets 24,00,000 | 32,00,000
Share Premium 2,00,000 | 2,40,000 | Inventories 2,00,000 | 4,00,000
8% Debenture 400,000 | 200,000 [ Debtors 6,00,000 | 4,00,000
Creditors 400,000 | 6,00,000 | Cash &Bank _ 400,000 | 200,000
Qutstanding Expenses 2,00,000 1,60,000 .

Retained Eamnings 4,00,000 | 6,00,000
Total 36,00,000 | 42,00,000 36,00,000 | 4200,000

Additional Information:

i.  Sales income for the year 2067 - Rs. 24,00,000.

ii. Cost of goods sold -Rs. 14,00,000

iii.~ Operating Expenses - Rs. 4,00,000 .

iv. Fixed Assst costing Rs. 80,000 was sold for Rs. 1,20,000 and purchased additional one
worth Rs. 12,00,000.

v. Debentures were redesmed with premium of Rs. 40,000

vi. Dividend disbursed for the year was Rs. 80,000

Required : Cash Flow S[atement by using direct method. [4+2+3+1=10]
Ans: CFOA Rs. 760,000; CFIA (Rs. 10,80,000); CFFA Rs. 120,000

[14. 2089 Supp Set B Q.No. 17]
The closing balances of different assets and liabilities are given below:

Liabilities 1st Year (Rs.) 2nd year (Rs.)
Share capital 2 1,00,000 1,25,000
10% debentures 50,000 40,000
Creditors 20,000 30,000
Bills Payable 10,000 15,000
Assels . -
Debtors < 35,000 30,000
Cash in hand 10,000 ?
Investment 60,000 40,000
Stock 20,000 25,000

Additional information:

i. Sales Revenue Rs. 2,00,000.

ii. Cost of goods sold Rs. 1,10,000.

iii. Administrative Expenses Rs. 30,000.

iv. -Plant costing Rs. 6,000 has been sold for Rs.-3,000
v. Plant purchased Rs. 75,000

vi. Dividend paid Rs. 10,000

Required: Cash flow statement by using direct method . [5+2+2+1=10]
Ans: CFOA Rs. 75,000; CFIA Rs. (52,000); CFFA Rs. 5,000

[15. 2069 (Set A) Q.No. 17|
The Balance Sheet of a Company as on Ashadh 31, are as foliows: :
Liabilities 2066 (Rs) | 2067 (Rs.)| -  Assets . | 2066 (Rs) | 2067 (Rs.)

Share capital 3,75,000 | 4,50,000 | Machinery 4,00,000 | 5,70,000
Share premium . 37,500 45,000 | Furniture 50,000 { 30,000
Loan 75,000 37,500 | Stock 37,500 75,000
Wages due . 7,500 6,000 | Debtors _ 1,10,500 74,000
Creditors 1,05,000 | 1,36,500 | Pre-paid insurance 2,000 | = 1,000
Retained earnings 75,000 | 1,112,500 | Cash 75,000 37,500
Tofal 6,75,000 | 7,87,500 | Total 6,75,000 | 7,87,500

. Additional information:
i. Sales for the year 2067: Rs. 380 OOO
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Vi,

Cost of goods sold: Rs. 1,90,000

Administrativé expenses: Rs. 75,000
Purchase of machinery: Rs. 2,30,000
Furniture costing Rs. 15,000 was sold for Rs. 17500
Dividend paid: Rs. 15,000

Required: Cash flow statement using direct method.

[8.

2069 (Set B;_Q.No, 11!

The Balance Sheet of a Company as on Chaitra 31 is given below:

- [5+2+2+1=10)
Ans: CFOA Rs. 1,45,000, CFIA (Rs. 2,12,500), CFFA Rs. 30,000

Liabilities 2065 (Rs.) | 2066 (Rs.)’ Assets 2065 (Rs.) | 2066 (Rs.)
Share capital 5,00,000 | 6,00,000 | Fixed assels 6,00,000 | 8,00,000
Share premium 50,000 60,000 | Bills receivable 50,000. 40,000
15% debeniures 1,00,000 50,000 | Debtors 1,00,000 60,000
Creditors 1,50,000 | 1,90,000 | Closing stock 50,000 | 1,00,000
Retained eaming 1,00,000 | 1,50,000 | Cash 1,00,000 50,000
Total 9,00,000 | 10,50,000 | Total 9,00,000 | 10,50,000

Additional information:

e Sales for the year 2066: Rs. 10,00,000

= Cost of goods sold: Rs. 7,50,000

¢ Purchased of fixed assets of Rs. 3,00,000 and fixed assets sold for Rs. 40,000 (Book value
of Rs. 40,000

e Operating expenses Rs.1,20,000 -

e Dividend paid Rs. 20,000

* Required: Cash flow statement using direct method.
Ans: CFOA Rs. 1,70,000; CFIA Rs. (2, 60 ,000); CFFA Rs. 40,000

17. 2068 Q.No. 1

The Balance sheet of a Limited Company as on Chaitra 31 are given below:

[5+2+2+1=10]

Liabilities Year1(Rs.)| Year2(Rs.) _ Assets Year 1 (Rs.)] Year2 (Rs.)] -
Share capital 7,50,000 9,00,000 | Fixed assets 7,50,000 | 10,50,000
- 8% debentures 1,50,000 75,000 | Inventory 60,000 | 1,20,000
Retained eamings 1,50,000 225,000 | Sundrydebtors 3,15,000 |  2,55,000
Sundry creditors 1,50,000 2,00,000 | Bank and cash
Outstanding expense 75,000 1,00,000 balance 1,50,000 75,000
Total 12,75,000 | 15,00,000 | Total 1 12,75,000 | 15.00,000

Additional information for year 2:

i, Salesincome Rs,
i
.
iv.
V.
Vi,

10,50,000

Cost of goods sold Rs. 6,60,000
Administrative expenses Rs. 1,50,000
Purchased fixed assets Rs. 4,80,000
Fixed assets sold Rs. 1,05,000
Dividend distributed for the year Rs. 90,000

Required: Cash flow statement by using direct method.
Ans: CFOA Rs. 3,15,000; CFIA Rs. (3,75,000); CFFA Rs. (15,000); Closing cash Rs. 75,000

[3.

2068 Supp Q.No. 17]

The closing balances of different assets and liabilities are as under

[5+2+2+1=10]

15t year (Rs.) 27 year (Rs.)
Liabilities 2
Share Capital 3,00,000 4,50,000
Sundry Debtors 40,000 60,000
Bills Payabie 15,000 30,000
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Assets } ;
Inventories ; 40,000 60,000
Invesiment 3 60,000 « . 40,000
Sundry Debtors . 70,000 - 60,000
Cash in hand : 20,000 ?

Additional Information from second year:

i. Cash sale Rs. 3,00,000.

ii. Cost of goods sold Rs. 2,25,000.

iii. Operating expenses Rs. 80,000.

iv. ‘Investment of Rs. 20,000 has been sold for Rs. 25,000.

. V. Piantcosting Rs. 15,000 has been sold at a gain of Rs. 5,000.
vi. Purchased Machinery of Rs. 1,50,000. 3
vil. Dividend paid Rs. 20,000.

Required: Cash flow statement by using direct method [5+2+2+1)

Ans: CFOA Rs. 20,000; CFIA Rs. (105,000); CFFA Rs. 130,000
9. 2067 Q.No. 1 .

The Balance Shests of 2 Company are as follows:

Liabilities Year 1 Year 2 | Assets Year 1 Year 2
Share Capital 5,00,000 | 6,00,000 | Fixed Assets | 5,00,000 | 7,00.000
Bank Loan 1,00,000 50,000 | Stock 40,000 | 80,000
| Creditors 1,560,000 2,00,000 | Debtors 210,000 | 1,70,000
Retained Eaming 1,00,000 1,50,000 | Cash 1,00,000 50,000
Total 8,50,000 | 10,00,000 | Total 8,50,000 | 10,00,000

Additional information:

i. Sales and cost of goods sold for the year were Rs.7,00,000 and Rs.4,40,000 respectively.
ii. Operafing expenses were Rs.1,00,000

iii. purchase of Fixed Assets Rs.3,20,000 and a part of Fixed assets was sold for 70,000.

iv.. dividend paid for the year Rs.60,000.

Required: Cash Flow Statement by using direct method [6+2+2+1=10]
Ans: CFOA Rs. 210,000; CFiA (Rs. 250,000); CFFA (Rs. 10,000)

[20. 2067 Supp Q.No. 17]
The balance sheets of a company as on Ashadh 31, are as follows: =

-

Liabilities 2064(Rs.) | 2065 (Rs.) | Assets 2064 (Rs.) 2065 (Rs.)
Share capital 10,00,000 12,00,000 | Machinery 12,00,000 16,00,000
‘Share premium 1,00,000- 1,20,000 | Inventories 1,00,000 2,00,000
10% debentures 2,00,000 1,00,000 | Deblors 3,00,000 |= 2,00,000
Bills payable 1,00,000 80,000 | Cash - 2,00,000 1,00,000
Creditors 2,00,000 3,00,000

Retained eaming 2,00,000 3.00,000 Vi

Total 18,00,000 21,00,000 | Tofal ) 18,00,000 21,00,000

Additional information: -

i. -~ Sales for the year 2065 Rs. 16,00,000

ii. ~Cost of goods sold Rs. 11,00,000

iii. Operafing expenses Rs. 2,50,000 (mciudmg depreciation Rs. 50,000 and mterest Rs,
20,000)

iv. A machinery costing Rs. 40,000 was sold for Rs 60,000 and another machmery
Rs. 6,00,000 was purchased for the year.

v. Dividend distribution Rs. 60,000.

Required: Cash flow statement using direct method. [5+2+2+1]
. Ans: CFOA Rs. 3,80,000; CFIA Rs. (5,40,000); CFFA Rs, 60, 000 Closing cash Rs. 100,000
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[21. 2066 (C) Q.No.'17

The Balance Sheet of a Company as on Ashadh 31, are as follows:

Question Bank (Management)- Xil

Additional information:
Transactions for the year 2:

i. Sales Rs: 16,00,000

iii. Opening expenses Rs. 2,756,000
v. Sale of fixed assets Rs. 72,000
vii. Dividend distribution Rs; 32,000

Ligpilities Year1 Year 2 Assets Year1 Year 2
Share capital 160,000 240,000 | Fixed assets 2,22,000 | 4,10,000
Share premium 20,000 30,000 | Debtors 80,000 | 1,20,000
Retained eaming 80,000 1,00,000 | Inventory 1,20,000 90,000
10% Debentures : - 80,000 | Insurance prepaid 8,000 4,000
Creditors - 1,00,000 70,000 | Cash in hand 40,000 50,000
Overdraft 60,000 40,000
Provision for tax 40,000 1,00,000
Quistanding- 10,000 14,000
Expenses )

Total 4,70,000 6,74,000 | Tofal 4,70,000 | 6,74,000

ii. Costof goods sold Rs. 11,20,000
iv. Taxpaid Rs. 40,000 .
vi. .Purchase of fixed assets Rs. 3,12,000

Required: Cash flow statement using direct method.

2. 2066 Q.No. 1

The balance sheet of a company for last two years on 31st Chaitra, are as follows:

[5+2+2+1]

Ans: CFOA Rs. 1,12,000; CFIA Rs. (2,40,000); CFFA Rs. 1,38,000

-

Liabilities Year 1 Year 2 Assets Year 1 Year 2
Share capital | 4,50,000 | 7,20,000 | Fixed assets 3,50,000 | 6,00,000
10% Debentures 1,00,000 40,000 | Account receivable 40,000 25,000
Account payable 40,000 50,000 | Inventory 1,00,000 | 1,50,000
Retained eamings 10,000 80,000 | Cash balance 1,00,000 | 1,10,000

Goodwill 10,000 5,000
Total 6,00,000 | 8,90,000 | Total 6,00,000 | 8,90,000

Additional information:
i. Sales for the year Rs. 6,25,000
. li. "~ Cost of goods sold Rs. 3,00,000

iii. -Operating expenses Rs. 1,50,000 (including depreolatlon on fixed assets Rs. 80,000 and

interest on debenture Rs. 10 ,000)

iv. (Gain on sale of fixed assets (Book value Rs. 50,000) Rs. 5,000

v Purchases of fixed assets Rs. 3,80,000
vi. Dividend paid Rs. 1,05,000

Required: Cash flow statement using direct method.

[23. 2066 Supp Q.No. 17]

[4+2+3+1)

Ans: CFOA Rs. 2,30,000; CFIA Rs. (3,25,000); CFFA Rs. 1,05,000

The income statement and other details of a company for the year 2.63 have been given below:

Particulars g Rs,
Sales revenue 7,50,000
Less : Cost of goods sold 4,50,000
Gross Profit 3,00,000

Less: ]

Administrative expenses 90,000

Depreciation on machinery 75,000

Interest on debentures 15,000

Premium on redemption of debentures 7,500 :

Provision for tax 75,000 2,62,500.
Net income before sale of machine 37,500
Add: Profit on sale of machine 15,000

Profit after sale of machine

52,500



Principles of Accounting- Il 425
Other details:
Itemé Previous Current
Year (Rs.) Year (Rs.) |
Debtors 1,20,000 75,000
Creditors _ 60,000 1,05,000
Qutstanding Salary 15,000 7,500
Inventory 75,000 90,000
8% Debentures 225,000 1,50,000
Provision for tax 75,000 * 75,000
Machinery (nef) 525,000 | . 9,00,000
| Investment - 75,000 1,50,000
Share Capital 7,00,000 - 975,000
Share premium 50,000 75,000
Bank balance 1,80,000
Additional Information:
Plant costing Rs: 5,10,000 was purchased during the current year. - ]
Tax paid during the year Rs. 75,000 ;
Required: Cash Flow Statement applying direct method. [5+2+2#1]

Ans: CFOA Rs. 1,87,500; CFIA Rs. (5,10,000); CFFA Rs. 2,17,500; Endini

[24. 2065 Q.No. 17 3

The balance sheets of 2 Company as on Ashadn 31, are as follows:

g cash Rs. 75,000

Total

A 2062 2063 2062 2063
Liabilities , (Rs) (Rs) Assets Rs) - Rs)
Share capital . | 750,000 |9,00,000 | Plant & machinery £,00,000 | 11,40,000
- Share premium 75,000 90,000 | Investment 1,00,000 60,000
Retained eamings * 1,50,000 | 2,25,000 | Inventories 75,000 1,50,000
8% Debentures 1,50,000 75000 | Debtors 2,21,000 1,48,000
Creditors 2,10,000 | 2,73,000 |, Prepaid expenses < 4,000 2,000
Qutstanding expanses 15,000 |- 12,000 | Cashand Bank 1,50,000 75,000
Total 13,50,000 |15,75,000 13,50,000 |-15,75,000

Additional information:

Vi, ;
Required: Cash flow statement using direct method.
Ans: CFOA Rs.

Cost of goods sold Rs. 520,000
Administrative expenses Rs. 1,2

Dividend distributed Rs. 45,000

[25. 2064 Q.No 1 ;

The Balance sheets of a company as on Chaitra 31, are as follows:

“Sales for the year 2063 Rs. 9,00,000

5,000

Selling and distribution expenses Rs. 25,000
Investment costing of Rs. 40,000 was sold at a profit of Rs, 15,00
Purchased plant and machinery of Rs. 4,65,000

Z [5+2+2+1=10]
2,90,000; CFIA (Rs. 4,10,000); CFFA Rs. 45,000

Liabilities Year1 | Year2 Assets Year 1 Year 2
Share capital 5,00,000 | 6,00,000 | Fixed assets £,00,000 | 8,00,000
Share premium 50,000 60,000 | Inventories 50,000 | 1,00,000
Retained earnings | 1,00,000 { 1,50,000 | Accounts
10% Debentures 1,00,000 50,000 | receivable 1,50,000 | 1,00,000
Bills payable 50,000 40,000 | Cash at bank 1,00,000 50,000
Accounts payable 1,00,000. | 1,50,000
Total 9,00,000 | 10,50,000 | Total 9,00,000 | 10,50,000

Additional information:

Sales for year 2 Rs. 6,00,000
Cost of goods sold Rs. 3,50,000

iii. Operatina expenses Rs. 1,00,000

\\
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iv. Fixed assets costing Rs. 20,000 sold for Rs. 30,000
v. Fixed assets purchased for Rs. 3,00,000

vi. Dividend distributed Rs, 20,000

vii. Debentures is redeemed with Rs. 10,000 premium.

Required: Cash flow statement using direct method. 3 [4+2+3+1=10]
| Ans: CFOA Rs. 1,90,000; CFIA (RS. 2,70,000); CFFA Rs. 30,000;
: Cash and Cash equivalent Rs. 50,000

[26. 2064 Supp. Q.No. 17] 4
The income statement of a company for the year 2 is as under:

Sales revenue Rs. 12,00,000
| Less: Cost of sales 8,00,000
Gross profit Rs. 4,00,000
Less: Operating expenses fdi Rs. 1,60,000 :
Depreciation { 80,000
Premium on redemption of debentures 4,000
Loss on sale of plant 20,000 264,000
(Book value Rs. 80,000) : : _
Net income before tax e Rs. 1,386,000
The Balance sheets for 31st Chaitra are as under: ‘
Liabilities Year 1(Rs.)| Year 2 (Rs.) Assets {Year 1 (Rs.)|Year 2 (Rs.)
Share capital - 4,00,0c0 8,00,000 | Plant and machinery 4,00,000 6,40,000
4 10% Debentures 2,00,000 1.20,000 | Investment 1,20.000 1,80,000
Sundry creditors 1,860,000 | 200,000 | Inventories 3,20,000 | 4,00,000
Bills payable 80,000 40,000 | Sundry debtors 1,20,000 80,000
Retained earnings| 150,000 2,40,000 | Cash at Bank 40,000 1.00,000
Total 10,00,000 |  14,00,000 | Total “10,00,000 | 14,00,000
Additional information:
i.  Plant purchased in year 2 Rs. 4,00,000
i,  Dividend paid Rs. 56,000 ) ; :
Required: Cash flow statement by using direct method. [4+2+3+1]

Ans: Cash flow from: operating activities Rs. 2,00,000; investing activities Rs. (4,00,000); financing

activities Rs. 2,60,000; cash balance Rs. 1,00,000

| 10. COST ACCOUNTING.-

5

[i._2073setc ano. 5 .
State any three limitations of cost accounting.
2. 2073SetDQ.No. 3
Give any three importance of cost accounting.
AT AETATE F 419 Heeres aeEg |-
Mention any three differences between cost accounting and financial accounting.
¥ T faf 7 i o fafran @7 W frmaee s w2
[s. 2072 setC Q.No. 5]
Write any three objectives of cost accounting in brief. -
A ST T S IVAGE GIEFOAl TETE |

Mention any three limitations of cost accounting.
i

Write in brief any three objectives of cost accountiﬁg.

B3]

- B

[3]
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Write the meaning of cost accounting. [2]
AN S@EEE 49 gEe ey |

|
Define cost acccuni Also mention any two importance of cost account : =il
mmqﬁwm|m&msﬁﬁmmml
Write three differences between cost accounting and financial accounting. - [3]

AT w@at qAT AifdE d@EaE diaet fiid deerd |

Write the three objectives of cost accounting. {3l
TS AT J1F SEvass detard | :
Def ne Cost Accou nting stating its any two objectwes 2]

ﬁﬁmmwzqml

State any thfee limitations of Cost Accounting. [3]
AT o fafE Fa A deE Iwid n-rrmr [

[13. 2082 Supp Set B Q.No. 5|
Write in short any three limitations of Cost Accounting. [3]

TG St F Srae AAEE SEEH Teer |
[i4. 2089 (Set A) Q.No. 5
Mention any three advantages of cost aoooummg {3l
AR TS &4 A FIEdEE el THary | (
[i5. 2089 (Set B) Q.No. 5|
Clarify the meanmg of cost accountmg {2]

armﬁwmarnmm?ﬁml

Mention any two objectives of cost accounting. iR v
anTd Al B 9% IgvdeE weteld |

Mentlon any ahree limitations of Cast Accour.ting. [3]
GINGH m o i drTEE Seed TR | )

Gwe any two differences between Cost Accounting and Financial Accounting.. [3]
AT SraTaty 7 AT et F1 g8 Meaee deled |

¢
Def ine cost Accountlng and mention any two functions ofit. . [2+1]

ST SRt ET SRATHT (4 aEE F 4 BEEE Seord TR,

Wnte bneﬂy any three functions of cost accounting. [3]

AT @A Y dae FhEE GrEF AT U TR |

sze any three advantages of cost account. ‘ [1+2]

TR SETH A EEAE SE T |

Differentiate between cost accountancy and-costing. . 2]
— ST SETEl ¥ ARt AR B SEEEE |
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Mention any three advantages of cost accounting.
State two importance of cost accounting.

[25. 2064 Q.No :
Write any three objectives of cost accounting.
AT SETH|, F A SLUes TeE |

'

Write any two functions of cost accounting,

[2L2064 Q.No. 5 Supp)

* Write any three advantages of cost accounting.

Write two limitations of financial accounting.

E

Py @ T57eT Srees g TR |
-

Write any two functions of cost accounting.

: ;

State the impartance of cost accounting.

AR F@TH HEA Feord THerd |
B1._2060SUPP.QNo. 10 ,

Define costing in five sentences.

" In five to six sentences write what you know about cost accounting.
TS STE A AFEHA] R q@nEiE TeRie |

[33. 2059 SUPP. G.No. 13|
Write two limitations of financial accounting.
Define costing in five sentences.
Mention any four objectives of cost accounting.”

i

Bl

12

[2

(3]

(2

2]

2

@

[2

| 11. COST CLASSIFICATION

EI. 2073 Set C Q.No. a

With suitable example, write the meaning of fixed cost.

. 99 IEIEREiEd fer anae @d aeg

What do you mean by direct and indiFect materials? .
YA AT T AYE FHUT W % O T 7

[2

(3]
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B. 2072SetCaNo.g
*Write the meaning of variable cost with examples.
Sfvaaaeie ANTa! SET |ign 94 FeE |
ﬁ. 2072 Set D Q.No. a 1

Write the meaning of fixed cost with suitable example.

SYLTE garedy died (A @FTaE 94 FEEiE |
& :

Define variable and semi-variable cost. :

qﬁ-mﬁmanmammmﬁ?ﬁﬂmmmmfmml
B._ 2071 SetC Q.No.§|

With suitable example; write the meaning of variable cost.

frea1 Semeevralen qivaameie @A 94 mr—ﬁm |

[’7 2070 Set € Q.No. a
Ciassify cost according to element.
UTEIGE ATIRAT AETE G0 THE |

B. 2069 Supp Set B Q.No. &
Define fixed cost with suitable examples :
FERENEiET feav smae giearr faaEe
[8. 2069 (Set A) Q.No. 6]
Define fixed cost with examp!es
e TS wfaTfae TR |
[10. 2083 (Set B) QNc 6|
Write about the costs which belang to funcfional ciass:f cation of cost.
ARTAH] FEA FHAF A=A O ANTAEES! qH HETa |
Write about the controllable cost with suitable examples. :
Define fixed cost with suitable examples.
IUYEh AR Hied (T4 ATl qieaTa fﬂTﬁW |
Wnte ahout the controllable and uncontrollable cost with suitable examples.
huammafzr% meﬁmmmmma@;ﬁm
Mennon any two differences between direct cost and indirect cost.
Yeas GdT AYTE ATAET B TEAET (R Feord TR |

{5z aned \

Write the meaning of fixed and variable cost with examples.

Differentiate between fixed and variable cost.

e @ afvgddr anresr feerar igzmﬂﬁm
[17. 2064 Q.No 7 (OLD)] :

Define variable cost with suitable examples.

qiaaAsfie dTaE SaTeTIEia STedl THA |
[18. 2084 Q.No. 6 Supp]

Write the two features of variable cost.

qﬁaé'rﬁ'a ARTTET 55 SIS Foed TR |

Def ine mdlrect expenses with two suitable examples

TN 7% TAEROHET AYAE GHSH AT faEr |

429

2]

[2

(3]

@

[2

Bl

B

B3]

(3]

4

Bl

[
&l |
[2
(2
2]

2
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Define variable cost and write any two features of it. [2)
Write about the controllable and uncontrollable costs with appropriate examples. [
WWW?WWWWWWWWI
Def ne dlrec! expenses. Give two suitable examples of it. $ 2
T ST -v-c:rgm wfea e g1 gfvara fege

:
Deﬁne sems-vanable cost. Why is it called so? 2
w&nﬁwﬁvmwﬁwﬁ%mmﬁmwﬁmﬁa%ua@m
Drfferenuate between direct and indirect costs. J [2]
TS AT AT @HEEHT ATa] AT |
What do you mean by direct and indirect materials? - 12
FoqE WHYT T AYCTH HHA T F DA 7

BE zmeianod .
Define variable and semi-variable cost. i
qfeaaam ATa a1 Ad-IEaH g TS giearsT A |

[27 2060 SUPP. Q.No. 11] -
What do you mean by cost? Write in short about direct cost. 2
TN T T9TE F (a7 T8 ANTaS! ST BEFmT qeRd |

:
Differentiate between direct and indirect cost. 3 2]
T TAT AIH AR A9 far Sefere

[29. 2059 SUPP. Q.No. 7|
Define fixed cost with suitable example. ' 2]
feT STl SeTETIEied A n?ﬁfﬁr |

What do you mean by functional classification of cost? 2]
ATTAFT FATA AT Ao qIS F PR 7 o
What are the elements of cost? [2]

| 12. ACCOUNTING FOR MATERIALS

'

[. 2073 Set D Q.No. 7]
Write in briefly any two objectwes of material control. [2]
FrEYY PO 1 3% TeYUES SIEEdE HeTerd |

[2. 2072 SetC Q.No. 7]
Write, what do you understand by material control. [3]
AU fAg=m 7 F RS ¢ HeTeld |

[3. 2072SetD Q.No.7] ‘
Mention any three essentials of material control, - {3l
Tl e 1 AW ATEvas deEEE 9u THerd, |

&, 2071 Supp Q.No. §

State the meaning of centralized and decentralized purchasing. g [3]
Fsgma ad1 [qf=ea gies 99 deRE |
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B._2071 setD Q.No. 8]
Write the meaning of purchase order, [2]
g7 AT BTHSET A4 HETET |
Clarify the meaning of perpetual inventory system. [2]
frreeae wmrl st fafur o oo o ) ‘

Mention any two objectives of material control, . e

A FaeE F 3E 9ivaws oe TR

Write three objectives of material control, 3
AT P S IRvaRE HETE |
82070 SetDQNo. g :

. Give the clear meaning of centralized and decentralized purchasing. 2]
FwgT @fw T i efeat 9f ve wee
[10. 2070 setD Q.Ne. 7]

Briefly, write the duties of 2 storekeeper. : [3]
TR 0 FoeE geaiE e |

u1. 2069 Supp Set B Q.No. j 3
Write what do you know about Bin card? [2]

foe F1Ear auaTs F O g 7 S |
ﬁz. 2069 (Set A) Q.No. ﬂ
State any two responsibilities of a store keeper. ' ‘ [2)
[‘!3. 2068 (Set B) Q.No. ﬂ -
What do you undm{a;iﬁ% o%diﬁcation of materials? ; 2]
HIHAT AT feaeeur EEaGuY
v

State in brief the meaning of material control, 2]
AT =T o grestE HETE |
-
What is purchase order? To whom the purchase order is placed and why? [3]
G ATQT AAH F A 7 FGATE T BT @R AR T, 7
Az
Write the meaning of centralised and decentralised purchase, - 12]
FIEA WT T FdeT afee a4 v O |
o
Write any two objectives of Inventory control. ; [2]
:
What do you mean by bin cards?. [

9. 2086 Q.No.

Sketch a specimen of a Purchase Requisition Form. 2
&fvg A1 SRS T5a IET TR |
What do you mean by purchase order form? Give its specimen. 13

aﬁammﬁiﬁqﬁ@?mmﬁﬁﬁml
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" Give a specimen of a bin card. ' [2]
foe FTgH1 THAT FIEY | '

[22. 2085 Q.No. 11 (om)l
- Write in brief, what do you know about material control. ; i)
AT T ATEATE UTET HUFI FXEE BEFH AeTerd | :
What do you know abgut purchase requisition form‘? g 2
Ttz | 95 SHT SieaAT Heer |

What da you understand by codification of material? : [2]
. WA FHaE q a8 & RS ! : :

125 2064 Q.No, 7 Supp)|
What do you understand by decentralized stores? : [2]
fasfsa 97ER 99 F TFEE -

_

What do you understand by codifi caluon of matenal’? ‘ 2]

[7. 2080 SUPP. Q.No. 12
Mention the procedures relating to materials. 13

- '

Wn{e the meanmg of perpetual mventory system. 2]
fee oy vl yoneiTRT WY SRR

[29. 2059 SUPP. Q.No. 11] A
Write any two objectives of material control. (2
HTIIT faumﬁﬁ F T e%m?e— e |

| :

What isa bm card? ; 2]
a7 FE Tl F o

[31. 2058 SUPP. Q.No. 7| /
What do you mean by material control system? Sl
HTHT Fge U S % RS, Weterd |

[2. 2058 SUPP. Q.No. 13} ; .

" What s store keeping? : ' 2]

-

Write any two dutles of the storekeeper. : [2
AISHE! 4 48 (AT (F1ae) FefRr |

4
[34. 2073 Set C Q.No. 20]
Stores transactions dunng the month of Magh are as under:
Opening stock:
"‘Magh1 @ 500 units @ Rs. 10 per unit
Purchased ‘
i Magh4  : 600 units @ Rs. 14 perunit -
_Magh9  : 600 units @ Rs. 12 per unit
Magh 20 : 600 units @ Rs. 12.50 per unit
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Issued:
Magh7 : 500 units
Magh 15 : 500 units
Magh 25 : 500 units
Stock veriﬁcau‘ons loss:
Magh 28 : 20 units
Required: Stores under First-in-First-out (FIFO) method [2+2+1=5]

[35. 2073 Set D Q.No. 18]

Ans: 180 units @ Rs. 12 = Rs. 2,160 and 600 units @ Rs. 12.50 = Rs. 7,500

Following are the store transactions for the month of Magh:

Magh.1 : Opening stock - : 200 units @ Rs. 50

Magh5 : Purchased : 300 units @ Rs. 55

Magh 10 : lssued : 400 units

Magh 15 : Return from work order : 10 units

Magh 22 : Purchased - 1200 units @ Rs. 60

Magh 25 :-lssued : : 100 units .

Magh 27 : Issued ;110 units

* Required: Store ledger under Flrst -in- Fil‘Sl—OUt (FIFO) method [2+2+1=5]

Ans: Closing stock of 100 units @ Rs. 60 = Rs. 6,000

[36. 2072 Supp Q.No. 20|

Stores transactions for the month of March are as under:

March 1: Opening Stock 500 unifs @ Rs. 10 each
3: Purchased 1000 units @ Rs. 11 each
5: Issued 800 units
8: Purchased 1,000 units @ Rs. 12 each
9: Received back from work order* 40 units @ Rs. 11 each
15: Issued 200 units
20: Stock verification loss 20 units
Required: Stores ledger under FIFO method. [2+2-+1]

Ans: Closing stock: 480 units @ Rs. 11; 1,000 units @ Rs.12; 40 units @ Rs. 11

[37. 2072 Set C Q.No. 18]

Following are the store transactions for the month of Magh:

Magh 1 . Opening balance: 500 units @ Rs.10 per unit.

Magh 5 : Purchased: 600 units @ Rs.11 per unit.

Magh 10 . Issued : 700 units

Magh 15 : Return from work order: 20 units

Magh 20 : Purchased: 400 units @ Rs.12 per unit. : »

Magh 25 ;- Issued: 720 units

Required: Store ledger under FIFO Method : [2+3=5]

Ans: Closing stock 100 units @ Rs. 12 =Rs. 1,200

EB. 2072 Set D Q.No. 2g

The store transactions of a certain material during the month of Chaitra, are as under:

Chaitra 1 . Opening stock: 500 units @ Rs.20 each

Chaitra 2 : Purchased: 1000 units @ Rs.22 each

Chaitra 5 . Issued : 800 units

Chaitra 6 . Returned to stores: 20 units

Chaitrz 10 : Purchased: 600 units @ Rs.21 each.

Chaitra15  : Issued: 1,000 units.

Chaitra 18  : Purchased: 500 units @ Rs.20 each.

Required: Stores ledger under first-in*first-out method. [2+2+1=5]

Ans: Closing stock 320 units @ Rs. 21 = Rs. 6,720; 500 units @ Rs. 20 = Rs. 10,000
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{38. 2072 Set E Q.No. 18]

Foliowing are the store transactions for the month of Chaitra:

Chaitra 1 . Opening balance : 1,600 units @ Rs.5 per unit

Chaitra 2 : Purchased : 2,000 units @ Rs. 4 per unit

Chaitra 10 : Issued: 1,500 units
“Chaitra 16,  : Purchased: 1,000 units @ Rs. 6 per unit

Chaitra20 " Stock verification surplus : 100 units

Chaitra25  : Issued: 1,200 units.

Chaitra30  : Return to store: 50 units : '

Required: Store ledger under FIFO method. [2+2+1 =5]

0. 2071 Supp Q.No. 18]

The stores transactions for the month of Baishakh are as follows:

Baishakh 1: Opening stock 300 units @ Rs. 20each
Baishakh 4: Purchases - 700 units @ Rs.19 each
Baishakh 8: lssugd . 600 units
Baishakh 12: Purchased 1000 units @ Rs.21 each
Baishakh 15 : Issted ; 1000 units

.. Baishakh 18 : Issued : 200 units
Baishakh 20 ; Returned out of 18"' issue 20units

Reqmred Stores ledger under FiFO method. [2+2+1]

Ans: Closing Stock = 220 units @ Rs. 21 = Rs. 4620

j1. 2071 SetC Q.No. 18]

The Receipts and Issues of materials for the month of Baishakh 2069 are given below:

Baishakh 1: Opening balance  600.units at Rs. 10

Baishakh 4: Purchase * 800 units'at Rs. 11

Baishakh 10:  Issued 300 units.

Baishakh 11:  [ssued * 400 units

Baishakh 12:  Purchased 400 units 2t Rs, 12

Baishakh 25: 'Received back from work order: 50 units at Rs. 11

Baishakh 26: - Stock verification loss from latest purchase 15 units

Required: Stores ledger under FIFO method ¢ [2+2+1=5]

Ans: Closing stock: 700 units @ Rs. 11, 385 units @ Rs. 12 and 50 units @ Rs. 11

$#2. 2071 Set D Q.No. 18]

Following information are gwen in respect of materials transactions during the month of Jestha

2068., [2+2+1=5]
Jestha 1: Opening balance  : 1000 units @ Rs. 10

Jestha 5: lssued - : 300 units

Jestha 8: Purchased 1400 units @ 12

Jestha 10: Issued - 400 units

Jestha 12: Purchased : 200 units @ 11

Jestha 13; Return to store - 50 units issued from 8th Jestha

Jestha 18: Purchased : 200 units @ 10 ‘ s
Jestha 25: Issued : 600 units :

Jestha 30: Shortage on verification: 20 units

Required: Store ledger under LIFO method

Ans: Clo‘slﬁg stock: 530 units @ Rs. 10 = Rs. 5,300

@ 2070 Supp Q.No, 18]

- Given below are the transactions of a company for the month of Shrawan:

Shrawan 1;

Shrawan 10:
_Shrawan 15:
Shrawan 20:

Opening stock 700 units @ Rs. 5each
Purchases 1000 units @ Rs. 5.50 each
Issued 400 units

Issued 600 units

Ans: Closing stock 300 units @ Rs. 4; 1,000 units @ Rs. 6 and 150 units Rs. 4
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Shrawan 25;  Purchased - 400 units @ Rs. 6 each

Shrawan 26; - Return to stock 100 units

Shrawan 27:  Issued 300 units A

Required: Stores ledger under FIFO method [5]

Ans: 400 units @ Rs.5.50 = Rs.2,200; 400 units @ Rs.6 = Rs.2,400; 100 units @ 5 = Rs.500

[44. 2070 SetC Q.No. 18]
Stores Transactions of a limited company for the month of Shrawan 2068 are given below:
Shrawan 1 Opening Stock : : 2,000-units @ Rs. 60
" Shrawan 4 Purchased ; 1,000 units @ Rs. 65
Shrawan 10~ Purchased: 500 units @ Rs. 70
Shrawan 15 Issued 600 units
Shrawan 21 Isstied : ; 100 units
Shrawan 25 Received from work order 30 units
Shrawan 29 Stack verification loss : : ~ 10units
. Required: Stores ledger under LIFO method. : 242+
14 Ans: 2,000 units @ Rs. 60 and 820 units @ Rs. 65
l45. 2070 Set D Q.No, 18}
Stores transactions of a Limited company for the month of Magh 2068 are given below.
TMagh 1 Opening Stock : 3,000 units @ Rs. 80
Magh 5 Purchased: 1000 units @ Rs. 85
Magh 10 Issued : 500 units
Magh 17 Purchased 600 units @ Rs. 90
Magh 22 Returned to supplier; 50 units
Magh 28 Stock verification loss: 25 units
Required: Stores ledger under FIFO method ' []
Ans: Closing Stock: 2,425 units @ Rs. 80; 1,000 units @ Rs. 85 600 untts @Rs. 50
{46. 2089 Supp Set A Q.No. 18]
- Following stock transaction of a company are given:
"Ashad1 = :Balance 1000 units @ Rs. 4 each.
Ashad5 °  :Purchased of 500 units @ Rs. 5 each
Ashad8  :lssued 1300 units
Ashad 18 : Purchased 800 units @ Rs. 7 each
Ashd 20  :Retumn to Creditors 100 units of Ashad 18 purchased
Ashad 25 :lssued 700 units :
Ashad 30~ : Refurn from work order 100 units. .
Required : Store ledger under LIFC method. [2+2+1=5]
: Ans: Closing stock: 200 units @ Rs. 4and 100 units @ Rs. 7
[47. 2069 Supp Set B Q.No. 18]~ - ‘
Stores transactions of limited company for the month of Chaitra, 2088 are given below:
Chaitra 1 Opening balance, 100 units @ Rs. 30 each
Chaitra 5 Purchased 150 units @ Rs. 32 each £
- Chaitra 10 Issued 120 units SRl !
Chaitra 16 . Purchased 130 units @ Rs. 35 each. .
Chaitra 22 lssued 200 units.
Chaitra 25 - Returned back from work order 10 units of Rs. 35 each
Chaitra 28 Stock verification loss-5 units.
Required: Stores ledger under FIFO method. [2+2+1=5]
: Ans: Closing stock: 85 units @ Rs. 35
[48. 2069 (Set A) Q.No. 18]

Stores fransactions of a limited company for the month of Falgun, 2067 are given bejow:

Falgun 1 - Opéning stock 1,000 units @ Rs. 50 each
Falgun 6:  Purchased 1,500 units @ Rs. 52 each
‘Falgun 11: Issued 1,200 units

. Falgun 17: Purchased 1,300 units @ Rs. 55 each v

>
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Falgun 24: Issued 2,000 units
Falgun 26: Returned from work order 100 units of Rs. 55 each
Falgun 30: Stock verification loss: 20 units

Required: Stores ledger under FIFO method.

}49. 2089 (Set B) Q.No. 18]

[2+2+1 = 5]

Ans: Closing stock 680 units @ Rs. 55

Following are the transactions of materials of a company, for the month of Chaitra;

Chaitra .1  :Opening stock 600 units @ Rs. 10 per unit
Chaitra 5 :Purchased 900 units @ Rs. 12 per unit
Chaitra 11 :Issued1,100 units

Chaitra 15  : Return to store 100 units

Chaitra- 20 :Purchased 400 units @ Rs. 11 per unit
Chaitra 25 :lIssued 700 unifs

Chaitra 27 :Shortage on stock verification 50 units

Required: Store ledger under FIFO method.

[l

Ans: Closing stock 150 units @ Rs. 11 of Rs. 1,650

Stores transactions of a Limited Company for the month of Baishak, 2086 are given below:

Baishakh 1 Opening balance

: 1,000 units @-Rs. 20 each

4 Purchased : 800 units @ Rs. 21 each
5 Issued : 1,200 unit
7 Purchased : 400 units @ Rs. 22 each
15 lssued : 600 units
21 Received back from work order . 50 units of Rs. 21 each
25 Stock verification loss . 25 units

Requ:red Stores Ledger under FIFO method

(5]

Ans: Closing stock: 375 units @ Rs. 22 and 50 units @ Rs. 21
Em
The following are the details of receipt and issue of materials.
Purchases: Baisak 5 : 600 units@Rs.10 each
10 : 200 units@Rs.11 each
22 : 300 units@Rs.12 each

Issues: Baisak 15 : 400 units
20 : 400 units
25 : 400 units
Baisak 30 : Stock verification loss - 20 unis. :
Required: Stores ledger under first-infirst-out method [5]

Ans: 280 units @ Rs.11; 300 units @ Rs.12

52. 2067 Q.No. 18

Following are the stores transactions for the month of Bhadra:
Bhadra 1: Opening Balance 700 units @ Rs.10 each.
4. Purchased 300 units @ Rs.9 each.
12: Issued 500 units.
15: ' Returned from department 50 units
20: Purchased 200 units @ Rs.10.
30: Issued 450 units.

Required: Stores ledger under last-in-first -out method [5]
Ans: Closing stock 300 units @ Rs 107Tom Rs. 3,000

$53. 2067 Supp Q.No. 18
Following are the transactions of material of a company for the month of Magh.
Magh 1:  Opening stock 200 units @ Rs.5 per unit.

Magh'5: Purchased 400 units @ Rs.8 per unit.
Magh 12: Issued 500 units. y
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Magh 20: Returned to store 20 units.

Magh 22: Purchased 700 units @ Rs. 7 per unit

Magh 24: Returned fo vendor 100 units.

Magh 26: Issued 510 unils.

Magh 28: Shortage on stock verification 10 units.

Required: Stores ledger under FIFO method. 5]

A firm furnishes the following stores transactions for the month of Chaitra:

Chaitra 1:
3!

13.

14:

16:

20:

25

Ans: Closing stock: 200 units @ Rs. 7 = Rs. 1400

Opening balance 500 units @ Rs. 30 per unit

-|ssued 250 units

Received from vendor 200 units @ Rs. 28 per unit.
Returned from department 15 units @ Rs. 25 per unit.
Issued 200 units

Received from vendor 250 umts @ Rs. 26 per unit
Issued 300 units

Required: Stores ledger under last-in-first-out method [2+2+1]

A Manufacturing Company showed its purchase and issue of certain material in the foliowing

Ans: Closmg stock 215 units @ Rs, 20 = Rs. 6,450

sequences: .
Baishak 1 : Opening stock 600 units @ Rs. 20 per unit
4 :lssued 300 units ’
11 : Purchased 200 units @ Rs. 19 per unit *
14 : Returned from workshop 20 units
18 :lssued 180 units
22 :Purchased 300 units @ Rs. 21 per unit
23 :lIssued 320 units
Required: Stores ledger under first-in-first-out method. [2+2+1]

Ans: Closing stock 20 units @ Rs. 20 and 300 units @Rs. 21 of Total Rs. 6,700

[56. 2066 Supp Q.No. 18]

Following are the transactions of a company on purehase and issue of materials for the month

of Poush: :
Poush 1.  Opening stock 1300 units @ Rs. 300
5.  Purchased 400 units @ Rs. 350
9: Issued 500 units
14:  Purchased 450 units @ Rs. 360
19:  Returned to supplier - 50 units
24:  lssued 300 units -
25:  Received from work order 25 -units
Requured Stores ledger under last-in-first-out method. [2+42+1]

i57. 2065 Q.No. 18

Ans: Closing stock: 1200 units @ Rs. 300 and 125 units @ 360 Total Rs. 4,05,000

Following are the transactions of material of a company for the month of Bhadra:

Bhadra 1:

Opening stock 800 units @ Rs. 22 per unit
Purchased 1,100 units @ Rs. 23 per unit
[ssued 1,400 units

: Returned to vendor 100 units
: . Purchased 1,700 units @ Rs. 24 per unit

Issued 400 units

. Shortage on stock verification 20 units

Requlred Stores ledger under FIFO method. [2+2+1=5]

Ans: Closing stock: 1,680 units @ Rs. 24 Rs. 40,320
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A ﬁrm furn shes the following siores transactions for the month Falgun:
Falgun 1: Opening stack 1,000 units @ Rs. 10 each -
- .4 Purchased ~ 800 units @ Rs. 10.50 each
5. Issued 1,200 units
7: .Purchased : 400 units @ Rs. 11 each
9: lssued 600 units
10: Received back from work order 20 upits ..
15: ' Purchased 600 units @ Rs. 12 each
20: Issued 500 units

On 25th Falgun, when the stock is verified, it is found that actual stock is more by 20 units.

Required: Stores ledger under FIFO method showing reéeived, issued and balance. [2+3+1]
Ans: Closing stock: 520 units @ Rs. 12; 20 units @ Rs.-12

59, 2084 Q.No. 18 =

A company has purchased and issued the material in failowmg orders:
Chaitra 1: Opening stock 500 units @ Rs: 10
- 3 lssued200units =

10:  Purchased 200units @ Rs. 9 per unit
15: . Returned of surplus from a work order 10 units @ Rs. 9.50 per unit
18:  Issued 180 units
20:  Purchased 300 units @ Rs. 9.40 per-unit
21:  lssued 400 units -
25:  Shortage in stock 10 units
28:  Issued 100 units

Required: Stores ledger under Last-in-First-out method ' \ [2#2+1=15]

Ans: Closing stock 120 units @ Rs. 10 Rs. 1,200
[60. 2064 Q.No 11 (OLD}]

Following are the store transacticns of certain material durmg the month of Apnl
April 1: Opening stock 500 units @ Rs. 10 per'unit
5. Purchased 2,000 units @ Rs. 12 per unit

4 8 Issued 1,500 units
12:  Purchased 2,000 units @ Rs. 14 per unit .
14:  Returned fo vendor 200 units out of purchased on 5% April
16:  Issued 2,000 units
18:  Returned from the department, 40 units issued on 87 April.
20:  Issued 200 units
- 25:  Stock verification fall shert 20 units

Requlred Stores ledger under Last-in-First-out method. [2+3+1]
Ans: Closing stock: 500 units @ Rs, 10 and 120 units @Rs. 12

[1. 2064 Supp: Q.No. 19|
Following receipts and issues of a material were made during the month of April. Stock on 15t
April was 500 units @ Rs. 20 each.

Date .| Quantity Purchased Cost per unit Quantity issued
April3 . - - 200 units
paa, ; ~ 800 units Rs. 21 S
PR - ; - 400 units
"10 = - 300 units
s 500 units Rs. 22 R
"18 : - 3 ~ 500 units -
228 200 units S Re2? -

Issued are to be priced under last-in-first out methed. On 18 April 3 physical verification was
made when the verifier nofified that there is shortage of 20 units in stock.

Required: Stores Ledger Account, : [2+2+1]
: Ans: Closing stock: 300 units @ Rs. 20; 80 units @ Rs. 21; 200 units @Rs. 22





